ggoo g

Inventiones mathematicae (1974), 27, 191-227

Jo0o0oodoooon
Triple collision in the collinear three-body problem
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00000000000000000000000 (4-¢%00000000000000
00000 ()0 (b)00000000

q(t) ~ k(t; —t)*3s,,

gogdobooob sx00ooogooooon
O00000 Sundman 000000000000 O0O0OOOOOOOOOOOODODOOOO
0000000000 b00000oob0booDb0X0oobo«»00o0ob00 e XO
wioooo
w(zg) = Me=o¥(x, [t,00)).

gobbodogobobobuogogobboooboog riggoobobooooooboo
gobobbouogogooo

0072 ¢0000000000000X00000000x € X0 w(z)000000
000000000000000000%0 w(z1000000000000000000
0 w(z)0 100000

16



0000000wOdO00000000000000000000000000 710000
000000000000000000000000000090000000
v>a>00000000000000000000N(AOOOOOOOOOOOOOO
00 (Fig.300)0

B(h,a) ={(r,v,s,w) € N(h) : r < a},

Bo(h,a,v) = {(r,v,s,w) € B(h,a) : [v| <v—r},
B~ (h,a,v) ={(r,v,s,w) € B(h,a) :v>v—r},
Bt (h,a,v) ={(r,v,s,w) € B(h,«a): —v > v —r},
bE(h, o, v) = {(r,v,s,w) € BX(h,a,v) : r = a},

o (h,a,v) = BE(h,a,v) N By(h, o, v).

000 ¢z, [r,7]) 0000 KOOOOOOOOOOOOOO0O KOOO0O00000000
0000000 ID[rn7]0000 ¢(z,I)¢ KOODODODOOO

00 7.3.v>a—-h0000¢(z,[r,7])0 B~ (h,a,r) D0 O D0D00O0O0000OO@(x,7) €
o~ (h,o,v) 00 @(z0,7) € b (h,a,v) DO OO

00.(.7)0000000000 (4)0000000000s#+10000

d WY, (-8
E(v—l—r)—)\ 2(1_82)w +TW(3)1/2

(h+wv)|,

Ub00s==x10000

1
d%_(v +7) = 5/\W(s)l/2,

O0000(r,v,s,w)€o O0v=v—r00r<o000000v>v—-a000000000

v>a—-h0O0O0O0O0v+hA>0000000000 (r,v,s,w)€eoc- 0000 %(U+T)>0D

000000« 0000 B 00000 p(xe,7)eb-0000(r,v,s,w)eb 0v>000

O00000GHO00O0O0O00 0000 B OO000OD0OO0O ¢(xg,7)ec-000O0ODO
gdododooooooooon

00 7.4. v>a—h0000¢(e[r, 7)) 0 B*(h,a,r)0 00000000000 @(xo,7) €

bt (h,a,v) 00 @(x,7") € 0T (h,a,v) D000
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0071000.0000000000000000000000000000000000
000000000000
2o = (7o, 50,0, wo) € N(h)O OO (3.1)0(3.4)0(4.13)0000 (5.3) 00000 (¢(0), p(0))
00000000000

{(g(1),p()) = t € [0, 1)},

000 ¢z, [0,m)00000000000000000r—~000+#(r)—000000
0{r=0}000000000000000000nr=000000000
a>0000000r(r)»0000000% >0000000007>70000r(r)<a
0000000 e(z,7) € B(h,a)00O0O0O0O0O0O0 0000

v > a+ max(—h, |v(m)]).
0000 @(xo,7) € Bo(h,a,)0000D000000O
o(xg,7) € By(h,a,v) forall 7> 7, (7.1)

goodn

00 3>70000 ¢(xg,m3) € B~ (h,a,y) 000000000000 73000 r(7) <«
0000000000 7>7m0000 ¢o(zg,7) e B-O00000000O00 B O0ODOOO
O0v>0000000GH0000000 TZTgDDDD%ZODDDDDDDDDD
Or(r) 0000000000007 >7n0000 ¢(xy,7) ¢ B-000000 74000
7> 0000 gla,7)¢ B*0000000 (7.1)000000

B OO0O0O0O0D0D0U00O0ODw(z)00O0ODD0ODODODODDOOOODOOOOr(r)—0000
OO0 w(z) e COO0O00O00 6400 w(zp) 00O OO0DO0DO0ODOOOOODOODODODOOOOO
7200 w(z) 0000000000000 0DO0DO0OO0DO0DOOOOOO 63000000000
O0cO0dODO0O0O

(ryv,s,w) — (0, £ve, S¢,0) as 7 — 00,

00000007 —o0c000r'q=s—s. 000000710 ()0000000

.00 poog o(r UCDDDD@>ODDDDDDDDDDDD
dr

o(T9, T) = ¢ as T — 00,

good
der )\(1—82)

UL as T — 00,

dr W(sc)17
00000000 (37)0 (5.5)0

d
d_z ~ —vcr’l/Q,
oooooooo
r(t) ~ Gu)?3(t —t)*? as t— t—,
000000000710 (bh)0OOOO0O O

18



goodgoooooobobon
o(xg,7) > d as T — 00,

gbobboogoobbobooodg 8. gbboouoggn

Siegel[11,12)000000000000000000000000000000O0O00OO0O
000000000000000000000000000000000000000000
00000000000000000000000000000000000 Siegel0000
O (corollary) 0000000000000 000000 Siegel 01000000000

000000000000000¢00000000000000000000 71000
00000000000000000¢:00000000000000000000000
00000000000000000000000.000000000000000000
00000 (Fig400)

04

00 8.1 (Siegel). 00000000 DOODODODOODOODOOOODOOOOOOOOOO?200
gboobooogbbbod

00.000000000000
J : T.N(h) — T.N(h),

00000000000000007.NOc0OOONDOOOOOOOODO
F=(F,FRFKF):R—RO(7)00000000000000000000 DF(e):
R*—R'OT,N(h)OOOOOOJO DF(c)0 T,.N(R)OODOOOOOO

19



c=(0,-v,s5,00000000000000((G.1)00 (65 0000000000000
goo

DFy(c)(p,7.0,x) = —A(1 — s2)'/2p,

DE(e)(p,7,0, %) = M(%pﬂm,

DE(S)(p10,X) =X,

DEE)(p.7.0:x) = ~ o+ 1) + L0 (1= )+ D1~ )2y,

N(h)ODO (5.4)00
T.N(h) ={(p,v,0,x) € R*: hp + vy = 0},
00000000000000(p,v,0,x) € LN(R)ODOOD

J(p,v,0.x) = DF(C)(p,% a,X)

A1 — 2\1/2 . A
( SC) hp: X5 2 (1 - 83)0’ + 5(1 - 83)1/2X> )
(%

c c

0000000 T.N(R) DD {&,6,600000000000

51 - (_Ucy h7070)7
62 = (0707 170)7
& =(0,0,0,1).

{&,630 T.000000000000000000000O0 JOOOO

A1 — s2)12 0 0
0 0 1
V”(Sc) A 2\1/2
0 (1 - 33) Uz 5(1 - Sc) /

000 60000 -AN1-s)Y200000000000000J00000007,0000

gad
A V(s
7 2(1—5)1/2 —(1-8?) v(g ):O,
O00000062000000 V'(s.)>000000000000000000000 100
000010000000 ¢0CO00 100000000 1000000000000 N(h)

gbobobooogbbboogboboog20b0b000d O

ooobobobooooobobobuoboobobobuobobuoboodobobobo
g200000000000000—0. 0+, 000000000000 OOOOO0O0OO

9. Jgobbbuooobbbodgo
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000000000000000000000?0000000000000000000
000000000000000000000000000000000000000000
0Doooooo

Siegel 10 00D0000000000000(11,12000000000000000000
000000000000000000000000000000000000000000
00000000

0000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000?000000000000000000000000000000000
00000002000000000000000000000000

Easton 00 0000000000000000000000000 40000000000
00000000000000000000000000 0000000 aston0000
00000000000000000000000000000000000000000
000000000000000000000000000000 Easton[4,5]0 Conley and
Easton[3] 0 00 Churchilll]] 000000000

00000000000000000¢0000 MODOOO0O0O00OBOOOO0OO0OOO0OOO
000000bOBOOOOOOOOOOOOO

b ={zeb:¢Y(x,(—0)NB =0 for some &> 0},
b~ ={xeb:¢Y(z,(0,e))NB=0 for some e > 0}.

O0.btUb =b000BOOOOOOOOOOOO

goodooooo
a" ={zeb:¢(x,t)€B forall t>0},
a ={reb :¢Y(x,t)eB forall t<0}

00000000b —a- 000000000%:bt—at—-b —a-000000¢000
000BOOODOOOOOOOOOOOOO0O00000000O0O0YO000000000
0ooo (3,10

O00.v0o0000bt—-b 00000000 BOOOOOOOOOOOOOOOOOOO
goboboboooogon

(5.7) 000000000 000000700 Bh,o)DOODODDODODODOOODODOO AOO
O0000000B((ho)DOODDDOD0 00000000000 DOOOOOOO

b (h,a) ={(r,v,s,w) € B(h,a) : r = «a,v < 0},
b~ (h,a) = {(r,v,s,w) € B(h,a) : 7 = a,v > 0}.

DO000at(h,a)d bt (h,a)d c0000000000000000a (h,a)O b-0d0O0
000000000000000B((ha)0000000000B(h4)00000y<al
0000000000000000B(hae)0OO«00000000000000000C
00000 A0O00000000000000000000000000000
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gb91.0dm,m U000 ms 0000000000 Db0O0O0DO0O0b0bOo0nbognon
gooobodg

ooooobOooooooobbo cooooooobbooboooooboobooobooo
cobuoggoobobobbouoooobbbouoooobbboooan

00.C0000¢0000000000¢00000000d0000000000000
0000000 (FighOd0O)O

0 b

000000000000000¢000000000000000000000 ¢00
000000000000000000000000000000

700 B~,p- 000, 00000000000000000ADOOOa > 0000
0B(h,e)0ODOOOODODODOODOOO0OO0O0D0O00000000000000B = B(h,a),
B (v)=B (ho,r)000000600000BOOOOOOOOOO

009.2. CO00 00000000000 eatd000UDeO00b 0000000
O00v>000000000%, 000000 &z,)eb (v)0000(Fig600)0

00.C00¢0000000000000000000000000000000000
000¢ (»)ODOOOOOOOODOOO7.30000000000000 (»)000000
00000000000000000b 000000090 0000000000000
00000042, €eU0000y €0 (»)0OO0DO0007>00000 ¢(z,,7)=y,00
000002, 0000000 (»)O0OOO B (»)OOOOOO 730000000 (»)00
0000 B~ (»)0000000000 ®(x,)eb (»)000000000O000O O
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0093. CUO0e0000000D00DODODODODODODODODOO

O0.ap€a",v>0. 00006 00000020000 ®x)eb (v)DOODON{b (v):v>
v} =000000 0 qU000000000 O

EastonOOOOOODOOO SiegelUODDOO0OOODOOODOOODOOODOOOOODOODOO
gboo3ubbugbobugoboodbbgobboobbogbbuoooobooobo
0000000 (63)0000000000000000000000O00000ODO0O00O0OO
gbbboogobobbbouoooobbbooobbuooooobbbuooobbbogo

gobbodbbogbugobuogobogobooobooobboobbooboa
gooobbobbbbbooooddre,sdddwbDDOO0ODDODODqUOOpOOODOOO
gobobuge2bbbuuguobbboooogno

U6

00~0000000000000000000000000000000000000
0000BOr<a0000000000BOOObOr=a0000000000b%0
001000000a*000000000000000000000000009.20000
at00000000000000000vwO00000000000000

0000000000 (5.4)0000000000000000r<e000000v000
000w <1000000020000000000001-s20000000000000
00000v»0000000000 B~ (»)0200000000100s0+100000000
00100s0-10000000000000000000000000007 =a, |w|<10
D00v000+1000s000000000000s0+4100000000000020
3000000000s0-100000000000102000000000

00 (3.1)0(3.4)0(4.13)000 (5.3)00000000000000000000000

W(s)'/?

— g2

b= Tl—lﬂ lvMS(s) b MAS(S)] |

(411)000000030000000000000000
W(S)1/2

1—s2

msas

Ps= "7 [vcos)\(1+s)—w

sin A(1 + s)] :

goooooboobbbbbsb -10000b00bbbbobbooooooooooaan
r=o,|w|<1000000000p;0000000000s0O —10000000 10200
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gobobooogbobbooogoboboobbobooodobbsb +100boboboogon
gbobogdbbogdbbodgb iggobuoooboooboooobbuoobbuoono
gbboogdbbooobbuoooobbuoobbuoobobuooobol1bbooobooobo
gilbobooggoob200gdgobobogooboboboooan

0000 {(rv,s,w)eC:v>rp}00000000000CO0OOOOOOOO vOOO
000200000000C(v)0sO+100000000C_(v)O sO -1000000
O00co0o000oo0o0oooooo0o0doe000ooOoOoooooO100CC, (v)O0OO
0000100000 C(v)0ODODOOODODOOO(FigrOO0)DOOOOCOOOOOOO
gbobboboooooogbbbooooobbbuoooooooobbobboe2bbOonn
gbobgdgbbogdbbodbegbboobboobboobbuoobbuodbst +104
b -1gobuogobogbuogobuoguoboboobobobobuoobbuoobbuoon
gbobbbouggobbbooooobbbooobbuoooobobobbuoooobobobo

cobUbob0b00O0OODOoDOoDOnO m,m OO0 msODODOOOOODOODOODOO
gol1udgos3tbuuoub bbbt deuobbbooodgboo
gooobbobuooduduugoooobbbbt etuuuuuooooooooon
goobobogdbooogbboobbogbobuoboobooobelboubboobbuoon
10. 00000

gododooooo0bbobobooboobobobbobobboboboobobobbboboobbbbbbn
mp =mzg=m, My =¢EMm.
albO0OOO4000000000 )\DDDD(4.7)DDDDDDDDDDDDDDDDD

Y24 €))V2(~1, 1,1 +¢),
b= (m(l+¢)(2+¢)) V(-1 —¢1,1),

o
I
2
—
+
Q)

00000000000alMb=(1+¢)"'000000000AD

1

CcoS 2\ = ,
1+e¢

oboobooboobuooddbe—=0000MA—=00000
000000000000M4.14)0000000000000000000

1+e\/2 £ £ 1
V(s) = 3/2(—> in 2) .
() =m{35%) PG T s T smAl—s) | smA( T s) Fsnad =)
(10.1)
0000000 (5.1)00 W(s)0ODOOOOVO WODOOOOOOO00000O

a7
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O0101. 0000000 mOOD0O COOOD oO0OOD0O0ODOODOOD eO000OD0OO

00..0000000000010000000 ¢z, (—00,00))000007 — —co00
0 ¢(zo,7) — ¢c00007 € (—00,00] 0 @(xe,71) 0000 v000 0000000700
00007 — +co000 ¢(z,7) »d0 00000007 =40000000¢e000000
000n0000000(62)000000 {s=+1}0CO00000000000Z()0
o(0, (—00,m)) 000 {s=+1}00000000000000 ¢000000000Z(e)0
0000000000

00000000000 ¢00000000000000000 Z(e)0000000e— 0
000 Z(e) »00o00000000000000D000000000O0D0O000000000

00620000000 V0[-1,1]0000000000000000000000VO
000000000000s=00000000000(10.1)000

V(0) — 27Y2m?2 as ¢ —0,
gooooboooooonoooogoogn
p=v."=(2V(0) " =w(0)"

JoddpbD0O0O0O0O0O0O0O0O0ODe—-0000000000O0O0OO
gooooooon
1—(1—sHvW(s)™!
1 — pv?
0000 g0 (—ve,v) x[-1,1]00000000000000000

g(v,s) = (10.2)

n=g(v,s) " w

J

gboboboobooggobobod

(—ve,ve) X [=1,1] x RY — (—v,,v.) x [-1,1] x R :

1/211}),

(v,8,w) +— (v,8,9(v,s)”
gbououoouoououoouooon
Co={(v,s,w) € C: —v. <v <}
(6.) 000000000 C,O00
C"={(v,s,m) € (=p,p) x [-L 1] x Roop® = (1= 5%)(1 — mv*) = 0},

000000000000000000000 (6.2)0Cc'000000ODOOOO0OO0ODOOn

dv A\
g = SW ()" Pgl0,5)(1 = ue?),
s
g_T — 4(v, 3)1/277, (10.3)
A
% = —g(U, 5)1/23(1 — /M)Q) — a,UW(S)l/Qg(va 5)1”7-
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oggno
dr = g(v,s)l/QdT’,

O00000Cc'dooogooooooogooog

dv A

ke §W(3)1/29(U,3)1/2(1 — w?),

ds

ar m, (10.4)
d A

Eg==—41—+W%-—§NWW@”%KMSY”UW

00 (52)0000[-1,1]00000
W(s) — v2m*?(1 —s%) as A — 0,

0000000000000 (10.2)0000 (—vev) x [-1,1]0000000000000
0o
W(s)g(v,s) — v2m®?(1 —s%) as X —0,

guoodoooobbbuooooooooboobbn
MV (s)Y2g(v,8)Y2 -0 as A — 0.

00000000 (1040000 A —000000000
dv
d/
%
d/
dny
dr’
0000000000 oUuooooUooooUoC'oovooDoDUoOLDUoOooO-
0000000 (1040000 A—000000000C'00000O0ODODOO0O0O0O0O0OO
00000000000000000000O0 (103)0000000((03)000000 ¢

00000 (62) 000000 C,D000000000000e—00000 Z(e) — ool
gobobbouoooobobooood O

:0’
=1, (10.5)

- _8(1 - ll’“)2)7

00000 (104)000000000000000000m; =mg=m0O000 mg=em
O0000XN—-0000e—-000m,—- 00000000 (105) 000000000000
gododoboootdouobodoooooooouot e=00b0b0o0ouoouoooood
00000000 e0000000C'0000000000O0O0ODOOOOOOOO0OO00
2000000000000000000000O0000O0O0O00OODOO0OOOOO0OO
gdddotdodotoouououotdoe—-000o0ooooouno

oooooooom=m;0000COO0O00O000O00O0OOOOOWOOOODODOO0O0
(62)0000

(v, 8,w) = (v, —s, —w),
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gbobobobugoobooobto ecbbooggbb2000bbobbogooobooobn
oood(vy0D C_(v)OOOOODOOODOOOOOUOOODOcOODDOOOODOOODODO1O
O0OC,(v)OOOODOOODO 100000 C_(v)OOOODOOOOOO0000ooo 101000
Fig.7000000O000DOO0O0DOOODOO

11. J0ooodgg
gbbogdgbboobbuoobbuoobbobbuooobbooobooobboobbo
000000000000O000O0?o000000000ooooD (2)0p>00000

M = puM’,
q=p'"*dq,

O000000000000000000000000000000000000000 (my, ms,
m;) 000 000000000000000000000000p>00000000000
O (umq, pme,um3) 00 0000000000000 00O0O0O0DODOOOOOO

M = {(my,ma,m3) :mi+mo+mg=1,0000 k0000 my > 0},

gbooboooooboobooodan

judbuodbbuodbbuoobbuogbbuoobboobbuoobboobboobobo
gbbooodbbodobbodgbbodobbuoobbooboobbuooboobooobo
goobobooogn

go.gogoooobobobooooobooooooooobooboomMmuobooooog

0000000000000000000000000000000000000 MODO
000000000000000000000000000000000000000000
000000000020000000000000000000000000000000
00000000
00000000000000000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000000030000000000000000
000000000000000000000000000000000000000000
300000000000000-,0000700000000000000000000
0000000000000 000000000000000000010000000
000000,00000000000000000000000000000000000
0000000000000000000000000
00000000000000000000000000Painlevé80000000000
000000000000000000Painlevé[8]0 Von Zeipel[16]0 0 0 O Sperling[13] O O
0000000000000000000000000000.-0000000000000
000000000000000000000000000001000000000000
00000000000000000000
90000000000000000000000000050000000000000
0000000000000m,, --,m0000000000000500000mO000 ¢
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O0o0oooOd (mem,m) 000000000000 0O0COOOOOOOOOOOOOOO
mi=mg=ms=mUUO0 me=my=em 0000 000000000000O000O000O
gboboogdgboodgbbogbboobbosbbuoobboobuagi1b2n0ba3dbog
3040000 s0ddggooooonoboobbotbooooobobobbouooan
gobooobooogan

gboboodbboobbuoobbuogbbuooodgb 1o20bb0odbboobbadan
OO0bO00 AD0O0DODO405000000000DO00DODODODODOO BOOODOD 3
0200000000000000000000¢t=000030000 A0000¢ <1/2
oboogoobog1io200b030bo0bodbooboobogob 3g0bdg BOd
0t <1/400000000000000000 3040000 5000000000000
00000030000 A0Ot¢3<1/8000000000000000O0O0OOOOO0OO0O
000000 AD —co0O00O0O00ODO BO 40000000 30000000O0DODOOOO
goooood

go.ooggoobbbooodn

gbboogdgbbuodgbbuoobbuoobbuobbuoobboogoobooooobo
gbobobooooobobbooggbobobooooobobbooogooon

00000 Saaril 00 9|00 0000000000000 00OO0OSaariDO0On0O0O0O
OO0b00o0bOoooobooobooboobooooobOobDO SearibooogoooooOO
gbobobbooogobobuooooobbbuoooobobooooobobbouog g

00 720000000Sacker and Sell[10)0 0000000000000 O0OO0OOO0OO
O0000OConleyR]0 0000000000000 0O0O0OD wOOODOODODOOOODOOOO
OO000bO0bo0oo0o0ooooooboobD A200000000D0ODO0ODOODbDObOOOO

gbobbbbdouooooogoooobbibbid wddddduuooooooogo
gbbbuoogbbbbooooobbbuoooobobbbbuooobbobooooob

000200000 Conley2l0 00000000

00.,000Jd000000000X0O00D0000xz,ye XOOUOeOTOOOOOOO
000 (21, Tnp1s b1, ) 00i=1,...,n000000000000000200 yO
0 (s,T,0) 0000000

(a) z; € X, o =21,y = Tpy1,

(b) t; > T,

(c) d(p(zis ti), ip1) < e.

O00.x,y € XO0OOODOOOOODOeOTOOODO 200900 (,T,9)0000000
r>yQ oy

ConleyOO>00 XOOOOOOOOOOODOODODODODOOOOOODOOODOODOO
gbboogdgboboodgbboodgb>xgbuoobbuoobbuoobbuoobbuoobbodgboo
goobooooobooboooan

OO0 Al 00000000000 XODOODODODODeO gOODbOoOOOODODOODO
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zyeX0ODOOOODO
x>y =g(x) > g(y).

00.2>y00 g(z)<g(y)00000000 ;0 e, 0000

g(x) < ay < az < g(y),

00000 K=gYa,a])000000000000000

Kl - gil((_oo> al])? K2 = gil([a% —OO)),

00000000 K40 K, OOODOO0O0000000000006=d(K,,K,)0000K
oboooboobooboobuooboboorooog

reK, t>T= ¢(x,t) € K;.

000e<é0007T >TO000200y00 (6,7,9)000000002>y0000
00O0o0o0O0o0oo0ooO O

gbobboooobbbouoooobbon

O0.o.0000000 XO0OOboboooodD z,yeXUOOOO0Dz>y00 0000
gooo

Conley2l 00000z XOUOUOO2z>2000000000000000000000O
gbobbooogobbboooobobbbooooobbboooon
wihggoobooooooooo

00 A2, p0000000000000 XO0OOOOOOOze X0 w(zg)O0OOOOO
O0000000000000000000000 w(xe)JO0OO0OD 00000000

U0wdooooobbobobobobobobbbbboboooooooooboobooooobon
O00000zyew(r) 00 XOO 000000000000 000xz>y000000
O0000000000000000w(z) 0000000000 DO0O00OO0O0O0O0O0O0O0OO
0000000000000 00w(zy) 00000000 00000000000 0OOOO
O000w(z)DOOOOO0DO0O0OOOOOOOOOOOO

XO00O0OooooOO0OOw(ry)DOOODOOOOOOOOOOOODOODOODOOODOODDOO
0000000 w(zy)0OOODO0DO0DO00OO0O0O0OD0OO0OOOO0OOO0OOOOOOODOO

OO0 A200000000000O000O00ODOO

00 A3. 0000000000000 XOOOOOOOOze X0 w(zg)OOOOOO
O0000000000000000000000 w(zy)JODODOODOODO000 w(ze)0OOO
0000000000 ¢00000¢t>¢0000 ¢(xg,t)e0O000

XO00ODOOoooooo A300D0O0O0ooooog [7Mow(x) 0 ODOO0OoOooooooo
ooooboobobbobb Xooboobuooboobooboobuooboobo
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00 A2000.0=w(z)0000¢0 0 Q00000000000y,y €Q000e0
TOOODOOO0O0O0OO0yO0O 00 (6,7,4)000000000000

U0 XO0O0OOO0O0O00O0 QO00000000000000000 (7)06<¢e/200
00

up,ug € U, d(uy,ug) = d(p(uy,t), p(ug, t)) <e/2 000 te€ 0,27, (A.1)

000000000VOUOoOoooooooo0Qcuoiooo0zeVOOO00Od(z,Q) <
000000000 A3000¢0000 ¢z, [t,00)) cVOODD

x1 € @(xo,[t',00)) 0000 d(zy,y) < 60D DOT >T0O000 dle(x,T),y") < &/2
00000 7T/TO00000000¢=2,...,n0000 z; =¢(x;,1,7)0000x,,1 =
o(2p, T'—(n—1)T) = p(z;,7)0000i =2,...,n0000 y, € Q0000 d(yi, 2;) < 600
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